Model and sample answers for Writing
tasks

TEST 1, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.
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Muodel and sample answers for Writing tasks

TEST 1, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by 2 candidate who achicved a Band 4 score. Here is the examiner’s
comment:

it is difficult to find the main argumentis in this answer. There are fong, formulaic introductions,
not many ideas that deal with the actual issues and the writer's point of view is not consistent.
The prompt is copied directly three times in the response and the remainder is underlength at
181 words, so marks are lost for this,

The response is organised into sections, but the relationship between ideas is not always
clear and the linking expresslons are sometimes Inaccurate, as in the opening paragraph, or
used in a mechanical way, as In the second paragraph.

The dependence on formulaic language and the input material indicates a limited range of
vocabulary and there is a lot of repetition and inaccuracy. A range of structures is attempted,
but control is weak. Errors in grammar and punctuation are frequent and cause problems for the
reader.

According To universities should accept equal numbers of male and
female sfudents in every sublect Therefore, this essay will show some
veasons of argument for and avgument agamst

Fastly, T will discuss about two reasens of argument for to begin
with unversities should accepT equal numbers of male and female
students n every sublect because it will be balonce of dea while
studying. In gereval, theve usually ave different deas between mon
oncdk weman. These lead to, new ‘deas frem different vision will happen.
Arcther veason s i display That have equal of sociefy net eccept
each side. In oddition, nowadaus, the mest societies become to accept
obility of both w any way,

Secondly, I will discuss obeu® one veasen of argument agoinst that
s some sublects not suiable for each other. For example, some subiect
of sporTs such as weight putting. It is net suitable for female
becouse theve ove diffevent of body befieen mole and female

In conclusion, T ogree with universities should accept egual numbers
of male and female students n every subiect. Moreover, it depen on
what the sublects that The students woant fe study, They con choose
by themselve becouse T beleve that ¥ the students lie To sTudy
ther sublecTs, they will do it well so That I strongly ogqree with s
Top\c.‘..

163



Model une sample answers for Writing taskys

TEST 2, WRITING TASK 1

SAMPLE ANSWER
This is an answer wrilten by a candidate who achieved a Band 8 score. Here is the examiner’s
comment:

This answer summarises the key features of both charts and integrates them well. Clear trends
are identified and supported with appropriately-selected figures, The answer could only be
impraved by adding an introduction 1o the general topic of the charts.

Tha information is well organised, with a clearly-signalled progression. Linking words are
used accurately and precisely, although there is occasional omission. Paragraphing is used well
Initially, but lapses in the later section.

A very good range of vocabulary is used to convey the information concisely and accurately
with only occasicnal inappropriacy. Words are used precisely and there are no errors in spelling

or word form.
A wide range of siructures is used and maost sentences in this answer are accurate. Errors

are rare and do not affect communication in this answer.

The first graph shows that fhere is a gradua! decrease in
sfudy for career reasons with age. Nearly 80k of studenfs
under X6 vyears, study for their career This percenfage
gradually declines by 10-10% every decade. OUnly 40f of
tO-49yr olds and 184 of over ¢9yr olds are sfudying for career
reasons in lafe adulthood.

Conversely, the first graph also shows fhat study stemming
from inferest increases wsith age. There are only 10% of under
Lbyr olds studying oul of interest. The percenfage increases
slovly fill the beginning of fhe fourth decade, and increases
dramatically in late adulthood . Nearly same number of 40-49yr
olds study for career und interest However 705 of over &S9yr
olds study for interest in comparison fo 18 sfudying for career
reasons in fhaf age group.

The second graph shows that employer support is maximum
(approximately 60%) for The under 1byr students. It drops
rapidly fo 3L up fo the third decade of life, and fnen
increases in lafe adulthood up o about #4% It is unclear
whether employer suppert 1s only for career-focused study, bul
fhe nhignest level is for those studenls o mainly sludy for
CATEEr purposes.
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Model and sample answers for Writing tasks

TEST 2, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.

It is quite common these days for young people in many coun_triag_i’_@;hm%:_i
from studying after graduating from high school. The trend is not restricted to rich.
students who have the money to travel, but is also evident among poorer students
who choose to work and become economically independent for a period of time.

The reasons for this trend may invalve the recognition that a young adult who
passes directly from school to university is rather restricted in terms of general
knowledge and experience of the world. By contrast, those who have spent some
time earning a living or travelling to other places, have a broader view of life and
betier personal resources to draw on. They tend to be more independent, which is
a very important factor in academic study and research. as well as giving them an
advantage in terms of coping with the challenges of student life.

However, there are certainly dangers in taking time off at that important age. Young
adults may end up never returning to their studies or finding it difficult to readapt to
an academic environment. They may think that i is better to continue in a particular
job, or to do something completely different from a university course. But averall,

I think this is less likely today, when academic qualifications are essential for getting
a reasonable career.

My view is that young people should be encouraged to broaden their horizons. That
is the best way for them to get a clear perspective of what they are hoping to do
with their lives and why. Students with such a perspective are usually the most
effective and motivated ones and taking a year off may be the best way to gain this.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of muny possible approaches.

The map shows two proposed locations for a new supermarket for the town of
Garlsdon.

The first potential location (S1) is outside the town itself, and is sited just off the
main road to the town of Hindon, lying 12 kms to the north-west. This site is in the
countryside and so would be able to accommodate a lot of car parking. This would
make it accessible to shoppers from both Hindon and Garlsdon who could travel by
car. As it is also close to the railway line linking the two towns to Cransdon (25 km
to the south-east), a potentially large number of shoppers would also be able to
travel by train.

In contrast, the suggested location, S2, is right in the town centre, which would be
good for local residents. Thearetically the store could be accessed by road or rail
fram the surrounding towns, including Bransdon, but as the central area is a
no-traffic zone, cars would be unable to park and access would be difficult.

Overall, neither site is appropriate for all the towns, but for customers in Cransdon,
Hindon and Garlsdon, the out-of-town site (S1) would probably offer more
advantages.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 2

SAMPLE ANSWER

This is an answer writlen by a candidate who achieved a Band 6 score. Here is the examiner’s
comment;

Although the answer considers the main issues in the question, it deals much more with the
aspect of ‘competition’ than it does with 'co-operation’. Some of the supporting examples are
overdeveloped and divert the reader away from the argument. However, the main points are
relevant and the writer's point of view is generally clear.

The argument has a logical progression and there is some good use of linking expressions,
though the use of rhetorical questions to signal topic changes is not very skilful. There are also
examples of overusing markers, and of errors in referencing.

The candidate tries o use a range of language, but there are regular errors in word choice
and word form, and this occasionally causes problems for the reader. Similarly, a range of
structures is attempted, but not always with good control of punctuation or grammar. However,
the meaning is generally clear.

Newadous, purpose of educafion being chanaed in Koveo. There are somz pecple who
Ttk oot competition n children should be made, also others believe that children
uhs are Tought To ce-opevate as uell as become more useful adulfs There are
odvantoges ond disadvantages for both of the arquements

To begin with, what s goed if o sense of competifion in children & made? They
cewld develape Themselves more and more as they learm and study o kbt 1o win
from The competition. To prove this, in Korea, i s popular = even coton now - o
have o tufor whe come to student’s hause To teach exfra peces of study with
poying o lot of money They leavrn faster Than what they learn at school
Furthermore, during The vacotens, sfudents sfudy atvead To leam English for o
tonte nstead of revise school work. If They have experiments such as study
obread, T is one of The Srea"‘res‘f plus pamt Yo ae To the fameus well-Known high~
school. Movecver, there are Ffour big school exam and tue notenal exammateons to
fest students” level of siudies Genevally, only the highesT 40% com go ta The gend
guality highschools and colleges. children learn as much as they can, to win the
copetition To obtain gosd gualify schools

On the other hand, as they ore busy 7o enfer the schools and study ndwidually
with fheir aun tutors, There are preblems They become selfish They beceme careless
ard dont help athers alst W T s about studies There will be ne comepevations for
them Then, why ore There cemponies for many pecple To work w? Each of thew are
clever, however, Treve are weak porfs ard slvong parts for each person To co-
opevate is To mprove ths part Pesple talk ancl listen to what others Thinking of and
leown That could oles be o greal opportunity to learn wstead of learnng alone with
one Teacher

In conclusion, T strengly aaree uith thot childven daculd be tought To co-operate
vather Than compete Nebedy is perfect Pesple leam together, work together fo
develop cach other. Tharefore, T wont parents and teackers 1o educate children
concentratng on co-eperation, not cempete and ranking them.
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Model and sample answers for Writing rasky

TEST 4, WRITING TASK 1

SAMPI.E ANSWER
This 1s un answer wrilten by a candidate who achieved a Band 7 score. Here is the examiner's

comment:

This answer selects and describes the information well. Key features are clearly identified, while
unexpected differences are highlighted and illustrated. The answer is relevant and accurate with
a clear overview.

Information is well-organised using a good range of signals and link words. These are
generally accurate and appropriate, although occasional errers occur.

The writer successfully uses some less common words. There is a clear awareness of style
but there are occasional inaccuracies and there is some repetition. Grammar is well-controlled
and sentences are varied and generally accurate with only minor errors.

The table shows the details regarding the undergraund railway systems in six
aties.

London has the oldest underground railway systems among the six cities. I
was opened in the year 863, and it is already MO years old. Paris is the second
oldest, in which it was opened in the year 100, This was then followed by the
opening of the railway systems in Tokqo, Woshington DC and an’co. Los Ange‘.es
has the newest underground raillway system, and was only opened in the year
2001 In terms of the size of the railway systems, London, for certain, has the
largest underground railway systems. It has 34 kilometires of route in total,
which is nearly twice as large as the system in Pacis. K-pt.o, in contirast, has the
smallest system. tt only has |} kilometres of rovte, which is more than 30 times
less than that of London.

\nterestingh, Tokqo, which only has [95 kilometres of route, serves the
greatest number of possengers per year, at 127 millions passengers. The system
in Paris has the second grectest number of passengers, ot Nl millions passengers
per year. The smalest undarground railway system, [Kyobo, servas the smallest
number of® passengers per year as predicted.

In conclusion, the underground railway systems in dif ferent cities vary a lot in
the size of the system, the number of passengers served per year and in the
age of the system.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer. However, please
note that this is just one example out of many possible approaches.

Today the way we consider human psychology and mental development is heavily
influenced by the genetic sciences. We now understand the importance of inherited
characteristics more than ever before. Yet we are still unable to decide whether an
individual's personality and development are more influenced by genetic. !acwrs
(nature) or by the environment (nurture).

. Research, relating to identical twins, has highlighted how significant inherited
characteristics can be for an individual's life. But whether these charactéristics are
able 1o develop within the personality of an individual surely depends on whether
the circumstances allow such a development. It seems that the experiences we
have in life are so unpredictable and so powerful, that they can boost or over-ride
other influences, and there seems ta be plenty of research findings to confirm this.

My own view is that there is no one major influence in a person’s life. Instead, the
traits we inherit from our parents and the situations and experiences that we
-encounter in life are conslantly interacting. It is the interaction of the two that
shapes a person's personality and dictates how that personality develops. If this
were nol true, then we would be able to predict the behaviour and character of a
person from the moment they were born. ,

In conciusion. 1'do not think that either nature or nurture is the major influence on a
person, but that both have powerful effects. How these factors interact is still
unknown today and they remain largely unpredictable in a person’s life.
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